<b>Sports Premium and PE 2015/2016</b> 2015-2016 value: £9790.00		<ul> <li>Develop or add to the PE and sport activities that Aston Tower already offers.</li> <li>Make improvements now that will benefit pupils joining Aston Tower in future years.</li> </ul>		Oliver Wilson
Objectives	Success criteria	Specific Actions / Date	Monitoring implementation arrangements	Resources
Improve staff expertise in teaching of PE.  Develop staff confidence in teaching of PE	<ul> <li>Teaching of PE to be at least good.</li> <li>Summer term 2015 audit showing staff expertise to have improved with greater levels of confidence.</li> </ul>	Team teaching of Gymnastics and dance by sports coach from Epic Dance for Year 5 pupils for the Autumn term.	Co-ordinator	Epic Dance:
			External coach for team teaching of PE	Autumn term £40 x 13 weeks £520
		Team teaching of gymnastics and dance by sports coach from Epic Dance for pupils for the spring term.	External support from KE Aston and AMA.	Spring term £40 x 11 weeks £440
		Team teaching of gymnastics and dance by sports coach from Epic Dance for pupils for the summer term.		Summer term £40 x 14 weeks £560
		Staff to take part in regular KE Aston training sessions.		Woollo 2000
		Team teaching of Basketball and Handball from coaches provided by KE Aston partnership. Coaches to work with staff over a sequence of lessons, building capacity and developing teaching over the course of the programme.		KE Aston Basketball team teaching, Mondays, Summer 2 £25 x 6 weeks £150
		Make full use of AMA staff support in Spring and Summer terms.		KE Aston Handball team teaching, Wednesdays, Summer 1 £25 x 6 weeks £150
				KE Aston training, main portion of team teaching fee included in membership fee.

Increase the number of children achieving 25 metres in swimming by the end of Year 4.  Improve water confidence and safety amongst pupils.	<ul> <li>Pupils are provided increased swimming teaching time over their school career.</li> <li>As a result of extended time in the pool (ASA recommendations), more pupils can swim 25 metres by the end of Year 4.</li> <li>Pupils show enjoyment when swimming.</li> <li>Pupils can keep themselves safe in the water.</li> <li>Teaching of swimming is improved through KEA support.</li> </ul>	Plan, book and arrange transport to increase the frequency of opportunities for pupils to swim regularly. Children swimming in cohesive timeslots in Y2, 3 and 4. Each Y2 child will receive 9 & a half hours in the pool (3 terms), each Y3 child will receive 10 hours in the pool (2 terms) and each child in Y4 will receive 3 and a half hours of pool time (1 term) (Autumn 2015, Ongoing). Track progress of pupils throughout their swiiming experience (Year 2-Year 4) at the beginning and end of each term. Ensure assessments are shared and used by subsequent year groups (Termly, Yearly).  Procure the provision of a swimming coach from KE Aston Sports partnership to support teaching with Year 4 staff (Autumn 1).  Swimming training as delivered by KE Aston for staff.  Signpost gifted swimmers to local pools for clubs, lessons and competition.	Co-ordinator Staff leading swimming Health Mentor.	Main swimming and transport costs from school budget share.  Autumn term x 12 weeks £660  Spring term x 10 weeks £583  Summer term x 13 weeks £758  Swimming badges and certificates £1.60 x 180 children £288.  KE Aston swimming training and support included in membership fee.
Use of expertise and support through Membership of the King Edward Aston partnership.	<ul> <li>School engages in opportunities from KE Aston Sports partnership.</li> <li>Advice sought and taken over the course of the year.</li> </ul>	Maintain relationship and engage in training and sports opportunities with KE Aston Partnership.  Effective use of partnership for advice, signposting and guidance.  Engagement with coaching and teaching opportunities.  Development of Play Leaders in school, through training and support from KE Aston.	Co-ordinator	KE Aston Partnership fee of £3500 (£1861 from Sports Premium £1639 from school budget share)
Improve the quality of school equipment to support PE.	<ul> <li>Effective, safe equipment in regular use.</li> <li>Range of equipment allows a wide range of activities to take place in PE lessons and in after school clubs.</li> </ul>	Update school equipment - netballs, basket balls, goal posts, OAA resources, foam javelins, shin pads and lesson plans/teaching resources.  Purchase additional resources following an audit at the end of the autumn term.	Co-ordinator	Autumn term £200 Spring term £500 Summer term £500

Introduce new sporting opportunities for pupils.	<ul> <li>Establish new sports opportunities in PE lessons and after school clubs.</li> <li>Provide new opportunities for pupils to try new sports.</li> </ul>	Use of KE Aston coaches to develop teaching of Handball (Summer 1, Wednesdays) and to develop a handball after school club.  Purchase new equipment, teaching resources and training to introduce new sports to pupils.		KE Aston costs as above. Equipment and resource costs £500
Increase the number, breadth and quality of lunchtime and afterschool clubs offered.	Clubs established each term from a range of pupils across the school. Full range of school groups involved (ethnic groups and gender), where needed through targeting.	Introduce new lunch time club (dance) for Key stage 1 pupils (Autumn Term).  Introduce five new after-school clubs (multi-skills, football x2, dance and dodgeball) to cover Years 1-6 (Autumn Term).  Introduce new after-school clubs each term for different age groups. (Spring Term: Badminton, Cricket x2, Dance. Summer Term:TBC)  Alter clubs and use external providers through KE Aston Partnership (e.g. Handball, Summer 1, Wednesdays; Basketball, Summer 2, Mondays; other opportunities as available).  Continue links with Aston Villa (Football) and Birchfield Harriers (Athletics) to provide after school clubs for children (Summer Term).	Co-ordinator, Health mentor.	Equipment costs as above.  Epic Dance:  Autumn term £30 x 13  weeks £390  Spring term £30 x 11  weeks £330  Summer term £30 x 14  weeks £420  KE Aston clubs included in membership fee and as detailed above.  Aston Villa/Birchfield  Harriers: Summer term £30  x 14 weeks £420
Increase the level of activity and engagement in sport at break and lunch times.	<ul> <li>Pupils to enjoy active break and lunchtimes.</li> <li>Improved behaviour as a result of more focussed activity.</li> <li>Pupils are more active during the school week, support work done in PE lessons.</li> </ul>	Introduce structured games, led by Health mentor and by dinner supervisors.  Train and establish play leaders (pupil-led leadership role) to support active play and engagement, whilst providing pupils with skills to lead sports for others.	Co-ordinator, Health mentor	Equipment costs as above.  Certificates and badges and reward stickers £60  KE Aston to provide training and support include in membership fee as detailed above.
Promote intra-school sports	Increase participation in competitive sports.	Termly opportunities for pupils to complete in a variety of sporting activities against their peers in school.	Co-ordinator, Health Mentor	Certificates and trophies £100.

Promote inter-school sports	Increase participation in competitive sports.	Through the Aston School Sports Association, KE Partnership, Aston Manor Academy and through arranged fixtures, pupils have opportunities to compete in competitive sport.	Co-ordinator, Health Mentor	Travel costs £350 (2014/2015: £246.50) Aston School Sports subscription fee of £50 a year. KE Aston inter school competitions included in membership fee as detailed above.
Establish an esteem/obesity- base group to help children understand the benefits of healthy lifestyles choices.	<ul> <li>Pupils will engage with sports activities.</li> <li>Pupils will model and explain the benefits of a more healthy lifestyle.</li> </ul>	Health mentor to identify pupils in partnership with other staff (Spring 2016).	Co-ordinator, Health mentor, Health lead teacher.	Equipment and resources costs as above.
Promote safe cycling	Pupils passing the course and understanding how to cycle safely	12-24 children to take part in Bikeability intensive cycle training sessions (Booked for July 2016).	Co-ordinator	Cost covered as part of KE Aston provision (cost would be £460). Cycle hire included in KE Aston membership fee.